
MEDAL PLAY PRIZE WINNERS- 3/5/2022 

1ST FLIGHT (0-12):  

1ST PLACE:   Matt Quinn      70 – 8 = 62 net  $21  

2ND PLACE:   Todd Johnson      74 – 8 = 66 net  $14   

3RD PLACE:   Todd Weatherly     74 – 7 = 67 net $4  

      Brian Wohlford   

2ND FLIGHT (13-19):  

  67 – 0 = 67 net $4  

1ST PLACE:   Curt Eby        78 – 13 = 65 net $17  

      Steve Van Norman    78 – 13 = 65 net $17  

3rd PLACE:   Harold Carruthers    83 – 17 = 66 net $3  

      Richard Lewis      81 – 15 = 66 net $3  

      Raj Raghunath   

3RD FLIGHT (20-42):  

  85 – 19 = 66 net $3  

1ST FLIGHT:  Mike Hamilton     83 – 23 = 60 net $21  

2ND FLIGHT:  Brian Coyne      82 – 21 = 62 net $14  

3RD FLIGHT:  Dennis Cordoba   

        

  89 – 26 = 63 net  $7  

FEWEST PUTTS  

1st PLACE:   Randy Lawson      25 putts    $24  

2ND PLACE:   Brian Wohlford     27 putts    $16  

3rd PLACE:   Matt Quinn      28 putts    $8  
  



CLOSEST TO THE PINS  

#8              #17   

Brian Rasler  2’ 11”  $12   Brian Wohlford 10’ 7”  $12  

Rich Perry   3’ 7”   $8    Jack Jessen  10’ 11”  $8  

Rick Walker  11’ 11”  $4    Kyle Thomas  11’ 0”  

#9              #18  

$4  

Garry Dovenberg 11’ 0”  $12   Mike Hamilton 2’ 1”   $12  

Chris Graham   13’ 6”  $8    Matt Keefe  4’ 1”   $8  

Steve Suthers  14’ 4”  $4    Cliff Eby    6’ 9”   

SKINS  
21 PLAYERS, 6 SKINS WON, $17 per skin  

Brian Wohlford   2 skins won  Birdies on #4 and #17  

Craig Goodwin   1 skin won   Birdie on #6  

Brian Rasler    1 skin won   Birdie on #8  

Chris Graham    1 skin won   Birdie on #14  

Randy Lawson    1 skin won   Birdie on #15  

$4  

  

  

  

  

  

  

 
 



ZONE QUALIFIER (ROUND 1 OF 2)  

Matt Quinn    70 – 8 = 62 net  

Steve Van Norman  78 – 13 = 65 net  

Harold Carruthers  83 – 17 = 66 net  

Todd Weatherly   74 – 7 = 67 net  

Brian Wohlford   67 – 0 = 67 net  

Norb Huber    89 – 18 = 71 net  

Aaron Knutson   80 – 9 = 71 net  

Brian Rasler    83 – 11 = 72 net  

Rick Walker    81 – 9 = 72 net  

Ramon Fonseca   74 – 0 = 74 net  

Russ Newman 90 – 9 = 81 net 
  

  


